
Math 125D 1/12/24
Chapters 5. 3 & 5. 4

Cand maybe some 5.5)



Math 125 Daily Fake Exam Problems Winter 2024

DFEP #1: Friday, January 12th.

Write each limit as an integral, then compute it.
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fT(Part 1 : ((f(x)d) = f(x) (- -)-=)-
Sind (d) =

e

(x4 Gonstant dt W -
*Ey find (S Sin- di) (i This said, find at(seldi)
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in would be easy :

- Sinx[l
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no boundsIndefiniteIntegrals and Nex Change
↓

The indefinite integral of f(x) with respect to x

--
written as ff(x)dx .

is what well call the general ansiderivative of f(x) .

↓
because its the general ansiderir.

Ex((e +2x)dx = e +x





Reminder : Indefinite Integrals that you should know so far :

Sadx =

x + C Ssinxdx =- cosx + C S dx= arcsiex + C

Constant

(x4dx
= x

n+ 1

Scosxdx= Sinx + C Sadx
= arctanx + C

+

Sedx = e + C Ssecx &x =

+anx +C S "dx=+
>O is

a constant

( *dx= (n)x) + c Ssecxtanxdx = secx+2

Advice : memorize these



Change In 5 .
3
,

we learned that (Pf()d+ = f(b) - f(c)
.

-

net change in f
,

from

So
,

if you integrate a rate of change of some quantity from Time t
=

a to time t= b
.

c
=

a + +
= b

,

Iher you get
the net change over that

time period .

Ex Water is pouring into a bucket at a rate of is is gallonsmin after - minutes .

In the first 30 minutes
,

how much water
pours into the buckett
-

(what is the change in the amount of water from = =0 +o +
= 30!

30

(n = " - (*) i(20 - 0)=
-

- 8

imlocity,
then Sukeld represent Displacementi change intgallons

position from t
=

a + + = b



Ex) A particle moves with velocity Everyafter
- seconds

.

pathFind the aldistancetraveled from =
= 0 to +

=5
.

22D version displacement..........
Wrong answer : ((--4)dt .

This is displacement, not total dist.
When does it

moving moving

3
turn around!

back forwards

- -2-4 = 0
I

= 8 d I v(t) is positive if 2
, negative if 2

.

1
2

= 4

t
= 12

Right answer
: distancemikwards

+metforwards .

-
5

fix + (( -4)a =
-( -4)) ( -4)]= -(5 - 5) -6) + (2 -2) -(f)

= 16 - 5 +
5

- 20 = -4+gitt -4d D=


